NTWET !

RETHRAN L2 b DI —EEIEN S

BREELEA— b~ Y| @orarw

YRR 264E8 A5 B (k)
BERSFELA— b~ b
HUHKE : &BHLZ

Tuhian

ﬁ‘&t‘ir,i' - L % W &9 k,trb\ B A
REEEO 48 (student number) « K4 (name) % i & OMlIC T 5| _nEJ\J@J: [10 4]

(Write your student number, your name and etc. in the appropriate place

R 1 Tato)~@) & mblze fHE ey X,

v 7

on your answer sheet clearly.)
SRR LT 10 A

( Fill in the blanks (1)~(3) with approprlate technical terms.)

SCEDOEE ALFERIEE DFEEH B’ b olz Ax
IEHSCE (1) Turing, Chomsky, etc.
SCURAKAE SCHE WMIEAERA— b~ h Landweber, E.H, etc.
(2) Ty a4 — k< h2 | Chomsky, etc.
ARG S (3) Chomsky, Miller, etc.

BRES KOAF— kv b Ao CFao (1) ~ (6)

il
W&z L, [20 4

(1

fw ALL)K
(3

12w 951 x<

OIED iy?ﬁl\(initial state)ld EHLn,

EWLwH Lk

)
(2) Jj( rflb(flnal state) ;U:i{bé: <‘:7}”L7f)>
)

WHE IR BE (internal state) D é% PN QI ;’Eﬁiﬂ

(4) N 77y Xy I\(lnput alphabet) iﬁiﬂ
th o 720 L Lhobrd SWL ko Iz

(56) ZoA—+h~ I\/75>”“f$ﬁ“63(%§ﬂ@lﬁ j(%ﬂﬁﬁw&d\@%@ ESCIVRN

Ox5FA

(6) ZOA—hr~br&EM <Qz5q0,F>@ﬂaﬁT§fﬁ&i

Ok oLwinich

fiikE 3 /J/Z@ji/ﬁ% Chomsky @ 1% # JE (Chomsky normal form)(Z8 X, [10 ]

S — a

7L, Vn={S,A, B},

S — ¢SB A—a

B—b

Vt=1{a,b,c}, %ﬁﬁé%ﬂ&%S L35,



R 4 E@ﬁfgz%méﬁ~wwi K 01D D* | %Lf%@ o R, L
= nb L% 7f‘/

L“C@%D’% c @ZE@J _nﬂf%@fébé 7171 L. Z2OF—h~vhoT i%ﬂﬁ}'ﬂk ED L X

PHOTFAENE L 8

HIREEE (~v F) iYJ\- 7'7 nﬂﬁ@gﬁiﬂﬁ \—{J_E%H‘ FHNTWS %@k@“éo 0 A—

2w 50 x< ~ N h

k<~ kBT, )\ﬁ(nw1®k%®%¢%£ﬁ[wﬁm (B> b %W®WM®

CwALLD

1‘%%7& JIEYRFEH X LV, Hint: Write down a sequence of the Turing machine’s behavior,

i.e., configuration. )

goby

RIEES iz @mg2@£@ W%*T&ﬂ%S%ié&fTﬁ%ﬁi [10 2]

HNFENEN

- BRBRME (ambiguity) - E E@&)ﬂ_\%ﬁ'@ (self-embedded) - jtf{i (grammar)

RN PR 2N AR

EEH K H (regular expressions) - SHEFIEEME (computability)

REE 6 é@%ﬁ@ a*(a|b) | ﬂbf%?@%@%ﬁ%%@i

LBy H T v AL

Ieds, AT TR < AT b I, (30 A
Construct each automata (1)-(3) equivalent to a regular expression a*(a|b),

while you should descrlbe some explanations how you have constructed it.
T AW w5 DT o TWHE W

(1) ¢ BB 2T IIEHATRA— R~ ko

(non-deterministic finite automaton with e-transition )
JFo TV S IFA

(2) PED iﬁ ﬁE‘(ﬁ" — k< k> (deterministic finite automaton)

L;j/i

il
(3) IR M A J\ D4 — b~ b (optimal finite automaton)

¢

Uk
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